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Note : Attempt question from each section as per
instructions given.

Section—A

Note : Attempt any two questions from this Section
in about 500 words each. Word limit does not
apply to Numerical questions. 2x20=40

1. (a) Why does a production possibility curve
concave to the origin ? Give reasons. 10

(b) The demand and supply curves for tea are
given by the following equations : 10

QP = 2500 — 50 P
QS =500+ 150 P

Find the price and quantity at equilibrium
level. What would happen if price is raised

toT 15 7?

P.T.O.
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Who bears the tax burden under the

following situations : 10

(1) When supply is perfectly elastic and

demand is of normal shape.

(11)) When demand is perfectly elastic and

supply is of normal shape.

With the help of indifference curve analysis
how does a consumer decide the optimal
quantity of the commodity to buy at a

given price ? 10

What are the ‘Ridge Lines’ ? Explain why a
producer always produces between these
‘Ridge Lines’ ? 10
What is expansion path ? Show the optimal

expansion path in the short run. 10

Explain the concept of returns to scale.
Discuss the factors which account for

Increasing returns to scale. 10

‘Long-run average cost curve envelops the
short-run average total cost curves.

Explain with the help of a diagram. 10
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Section—B

Note : Answer any four questions from this

Section. 4x12=48

Distinguish between change 1in quantity
demanded and change in demand. Give reasons

for change in demand of a commodity. 4+8=12

Discuss the various degrees of elasticity of
supply with the help of diagrams. What are the
determinants of elasticity of supply ? 6+6=12

What is price consumption curve ? Show that
the price effect is the sum of income effect and

substitution effect. 3+9=12

The following table gives information on total
cost and total variable cost at different levels of

output : 12

Output 0 1 2 3 4 5

TVC 0 50 70 80 95| 120
TC 100 | 150 | 170| 180 | 195 | 220
Find :
(i) TFC

P.T.O.




10.

11.
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(1) AFC
(1) AVC
(iv) ATC
(v) MC
Explain why does a producer produce at the
tangency point of isoquant and iso-cost line ?

How does a producer maximise output at a

given cost ? 8+4=12

‘Scarcity is the root of all economic activities.’
Comment. What are the central problems of an
economy ? 4+8=12

Section—C

Make the distinction between any three of the

following : 3x4=12

(a) Income Elasticity of demand wvs. Price
Elasticity of demand

(b) Perfect Substitutes vs. Perfect

Complementary goods
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(c) Law of Equi-marginal utility vs. Law of
Diminishing utility
(d) Positive vs. Normative Economics

(e) Internal diseconomies wvs.  External

diseconomies

P.T.O.
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